3.3 — Exponent Laws Worksheet #1
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1. Write each expression as a single power and then evaluate.

a) 7*x7

- —b
=7

= 177 ¢49

d) 3*x3*x 3’
q
=3
= 19 633

g) 0.5°x0.52

5
= 0.5

z 0.03125

2. Write each expression as a single power and then evaluate.

a) 8°+8*

2 g4

“ 64
d) 44+4°+4

- Y3 2y :
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2 |6
g) (-0.3)" + (=0.3)
(-a.3)°
- O 017
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b) 3° x 3°
3
=3
= 6 56|
¢) (-2)" x (-2)°
~ 5
= (-3)
2 -3
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6
b) 5° + 5°
. H2
- 25

¢) (-9 + (-9)°

= (-9q)

) 5x5°

= A5
f) (<1)° x (-1)* x (1)
= (-)°
= 1

)7 +7
5 —75
: [6%077
f) 0.1°+0.1*
: 0.1%
z 0.0}



Write each expression as a single power and then evaluate.

a) 2" b) (6°)° ¢) 3
= &g = 6(1 = —)\L
St 2% =729
d [ e) [(-1)*° f) [(-1)°T

(o) - () - (Y
= Yoq(, - 1 : -

g 03 h) [(%) }
5 0.3 ; (_3,5‘*
T \5
= OQCX)%‘ = Eg/
(25
. Use the exponent laws to simplify each expression. Then, evaluate.
a) 4 x4t 4 b) 87+ 87 x 8 ¢) 96*,,93
T 5’ o 1 ?
= Yroye = 8 x¢ 9
P ql - %l ’97
= |6 - ¥ g
g 5x6 o @2 x 2 0 (32)' =3
6x6° 3
- 2% A3
=, = 2
= 67 (;l )(9\ B 3 Xg
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éq = (;Z 3%
- 13
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b > 2043 23



g) 0.2°x0.2°+(0.2%’
= 0.2" 203"

2 0.2
s 0.0l

5. Simplify.
a) b x b’

g) £xg +g
o - -7

:(3 (3

5. Simplify

a) 4x3 + 2x3
= 4 (3 (1)
E %%I’

d) (x2)4.3x5 . X% : 3% 5
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